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Run 5783 mpswise, accO: All

Ny Enilries: 88817
Mean: 89744 +/- 00214

Sid Dev: 56133 &~ 001851
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Run 5783 mpswise, acc0: Beam ON, Laser ON
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Run 5783 mpswise, accQ: Beam OFF

Enitries: 2081

Mean: 001004 4/~ 00015

Sid Dery: 00836 o~ 0.00711
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Run 5783 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==1
Enilries: 8540
J' Mean: 16623 +/- 0.0030
Sid Dew: 02775 - 0.0021




Run 5783 mpswise, Acc0 vs Time: All
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Run 5783 mpswise, AccO vs Time: Beam ON, Laser ON
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Run 5783 mpswise, Accl vs Time: Beam OFF
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Run 5783 mpswise, AccO vs Time: Beam ON, Laser OFF
I U N T ST A AU S T M SR TR B T T T

1
10000 20000 30000 40000 50000

mpsCoda



